Infinite Series:
The only infinite series that have a sum are

Geometric Series when |r|<1

How did this formula = become this formula?
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Since ris less than one and it is being raised to a very large power (=)
it becomes so small that it essentially become zero.
Therefore, (1-") becomes (1-0) and a4(1-0) = a4(1) = a4

To find the sum of an infinite geometric series if |r|<1,
use the following formula:
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S = the sum of all infinite terms
a, = the first term
r = the common ratio

Find the sum of this infinite geometric series:
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Find the sum of this infinite geometric series: Find the sum of each series, if it exists.
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You can now finish HwWK #34.

Practice Sheet. Geometric Series (Sec 11-5)

Due Monday



